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Guidance

1. Read each question carefully before you begin answering it.

2. Check your answers seem right.
3. Always show your workings
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1. Rearrange w =a — 4¢3 to make cthe subject

3
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C = m ()

2. (a) Rearrange d =4+/ab + 3 to make athe subject
d;‘ 3 ovb +3

1*-3 * ¢b

(b) Work out the value of bwhend = 16 and a = 4
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3.  Make hthe subjectof m = 18 — (h — 3)2

m‘«[h'?fl - 1f
/A-j)z: 1d -m
a(.‘3 :f’ (¥ - m
h=2)if -m 3

A: ?)i’ 'g'/"\/

S5(x +w)
4. Rearrange y =
w
{4 J = SL ¥ S

Lm’g» S = SX

wly~¢) > %
® T

=5
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to make wthe subject



5.

3r~| - lof‘\/' e
B (O = 15+
(‘(/b”‘)o\r): l?w/ o

1§ + |

“—/f

4 < 0

=

(b) Work out the value of r when v = -0.5

- 75 t 1!
3 +95
. -6
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6.

Given a? = b%+ c2—-2bcCosA

b2+ c2— g2
Show that CosA =

. 2bc
d«1 ¢ lbcé’ﬁ/fv‘é L

L
thelosf = prret -
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(a) Make r the subject of the formula 37 — 1 = 5v(2r + 3)

3)



[ Make m the subject of x =

8.  Make x the subjectof y =

9 et
7

71(7%:) - X-k
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x—4

x+1



2m+1
9 —m

9.  Make mthe subjectof y =

U[ﬁ—/ﬂ) > dm i

Gy my am |
0(74 : ;‘Lm+m(7
fy-1 = m(rty)
= g7

10.  Make y the subject of ? =p

y+x
& -3
~_./¥le

%1’1

= ’5(7 : P(jHL)
A = 3] = /)(7 +/l
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11.  Make h the subject of =¥
l 4rh
A )
_ .
Gr k
o ]
[“")\:4\[' rl‘v
os bhete -k
_ Lfedte = 1)
-
l\,: ‘_/r\‘
ltv-tf = |
12, Make x the subject of 4’9
. ake X the subject o =
] Y 2x3 4w

1137H~(7 ‘-413"9
Wj+q : Z“LE"Z’L%J
Ld(yf'q < 13/1*'17)

oyt
372 \J/

“7

iy + 4
2 ELEL
u-li

© Corbettmaths 2019




1
13.  Make q the subject of b - 24—
qr r

e \/ - 9\
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f
-
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14.  Make c the subject of

@< ahe
T A
Ta¢ ¢

10¢ t ﬂvhé = {4-&

‘—_/—\—

acC

loct bhe - o

0c + ahe = 1

5(10%&&)3
é:‘“{/d'
(0+&b
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